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FINANCE — Extra Practice — Tax Brackets and Net Income

A — Determine the federal taxes in each situation

1. Carla has an annual Federal taxable income of $50 000

43630 x 0.5 + 2dF0x 0.205 = E}G?’O'Sﬂ

2. Matthew has an annual gross income of $50 000

EX: Soccox 0.0162 = ¥ 38lo
CPP . (SOQQ)_ 3500)X 0.051 = 4 1331.5S0

Forural Yaxale Mtome: S0600- B10- 23F1.50 - 11638 =935183.5%

Tedurall foxes:  3S132.50 % O.15 .—,& 52?4.53J

3. Steven earns $7500 every month. He contributes each month to his union fees ($50) and an
RRSP ($120).

Avuall (bm& ancome : *90000

E1:%860.22 (max) CPP: *9734%.90

Othar Adadur eh ons bg;gbrt Texes : (50+\Qo>x 12 = #9010

Fedural dopcao 1ome : Joced — BED.22 - AFUB A0 -2040 - 11635
= 332731583

Fedaml doxer : 4F630%0.1S 4 2503523 x 0. 205 ;\df lsznz%.n!
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4. Johnny works at a restaurant. Each week, he earns $500 plus an average of $100 in tips.
He works 52 weeks per year.

Arrwol Erog Inomae s (Seo4 t60)x 52 =*31200

EI: 21200x0.0162 = $S05. 44
CeR - @;\100-%’5@0% 0.05! = 31412.30

Tedoal toxede anto e : 31200-SOSUY — 14130 - 11638
e A TARYS

Tdual doxer: |F6U6 .36 x O.\S = [* zeqn.oz)

5. Frieda works as a salesperson. She earns $6500 each month, plus 5% of her sales as a
commission. Last year, her sales were $135 000 for the year.

Aol Grer Intome: 6560 x12 + 0,05 x 135000 = ¥ 84350
£I: *360.22 (mox) CPP: % 2743.90

Togural Yoxade Ncome : B4IFSO - 360.22 _ 23480 ~ 11635
= 3 £A5pS. 8%

Tedurml doxeo: 4F630x 0.)S + AW B3T.83x 0.265
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6. Gwendolyn is a teacher. She earns $44%7 biweekly. She contributes every month to her
union fees ($70) and an RRSP ($ 415).

Mrsal GR Ineme @ 4487 x 26 = ¥ (6662
EI: $860.22 (Mmox) CPP : ¥ QB G0 (Mo)
Othox ,o\admdﬁ;ns before foxes : QH§+‘+o)x 26 = %4170
Tedorml) Yaxade mome: 116662 - 860.22 _2F4T .90 14130 -1L63S
= %23 43 3%
Feduml Joxes : H3630 % © 4S + 2A61F.833x 0.20S :Y’“ ISQGé_I'ﬂ

he

7. Bronwyn is earning $575 000 per year.

£I1: %%60.22 cpe Fomug 90
Todaral Yoxalde ncome : 53S0 _Q60.22- 2340 - N63S
-4 559 355 9¢

Fedora) Voxeps @ HHEROX OIS ¢ §F622x0.008 + 52408 x 0. 260
+6FO% x0.04 + 349 25493 « 0.23

=|¢ 105 43

3&:. would dikermune dhe deniterial Jayes mqm‘m@mg.



